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2.) (8 pts.) Sketch the graph of y = 6 — 4cos (4:c + g) on the interval —g <z <7

1
1.) (2 pts.) State the amplitude, period, and phase shift for y = —3 sin (39: + z)
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by completing each of the following steps on the same graph. Clearly label which graph
belongs to each step.

(a') Graph Yy = COS(4:E). > PCr}od = Zra_(_ = 1

2
m : T4 - 1—TPI
(b.) Graph y = cos (4$+§) =) qusc shif+ = (‘-(-ZE) = __2'(7:‘ i 5 4o lef+
G
(c.) Graph y = —4 cos 495—1—% . (Note that this is the graph of 4 cos (495—1—% reflected

N refleckion 4hen verfical stretch bg ol

about the x-axis)

(d.) Graph y =6 — 4 cos (4x + g) — shd+ ucr’HcQ((a up b
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